

Metro Detroit Window

Estimate

7566 West Rd Washington, MI, 48094 metrodetroitwindow.com 248 250-8000

metrodetroitwindow@gmail.com

Estimate No: 3593 **Date:** 10/22/2024

For: Jonathan Taylor / Restoration

2310 Edison St Detroit MI 48206 United States +13132313208

Description	Quantity	Rate	Amount	
Scope of work Repair and restore old wood sashes and frames (most frames and sashes are damage at time of new vinyl window install) Including g brickmoulding frames and window stops inside and out	1	\$0.00	\$0.00	
Total count is 47units meaning each window itself not openings (D two 35 s) I order with drawings				
All ropes for counter balancers are off				
Brick moulding 50 % gone or broken				
Sashes maybe 10 are ok all uppers hand three vertical or four vertical				
A good 65% plus of the frames are damage from the previous contractor. Just ripping the old windows out.				
All aluminum and add on trim will need to be removed				
Things will coincide with pictures and drawings sizes too				
Customer has new vinyls / with aluminum that were installed recently some are to the stud so these are not a situation with the frame is in place the frame box for the original wood sash is gone and will need to re fab for sash and weights				

Lower front casement style need new insulated glass units and sashes made of wood D(40 -46) Bar pattern 1v4H 6@ approx 20x 60

6 \$1,188.00 \$7,128.00

Description	Quantity	Rate	Amount
On-site measure for fab front (D 40-46) Standard sash casement 6@ 19 x 63 Glass size Low E 6@ 16 x 60 Ov 5/8	6	\$369.00	\$2,214.00
Front upper stationary attic square 2 v2h grids (D2)	1	\$777.00	\$777.00
Right side (D6,7) Stationary 2@ 25 x 27 2v 1 h grids	2	\$777.00	\$1,554.00
Theee set double hungs (D 3,4,5) And double hung left upper 2 set (D 32,33) These need frames, parting stop exterior trim to the brick, mold, balancers, and hardware for locking and pole handles Also pulley wheels will be needed at this point customer has decided lower half work only	5	\$1,500.00	\$7,500.00
One double hung (D8) Grids 3 Vertical	2	\$777.00	\$1,554.00
Two double hungs (D9,10) Grid upper 3 vertical	6	\$777.00	\$4,662.00
Three set double hung (D 11.12,13) Grid 4 vertical	6	\$777.00	\$4,662.00
Two individual double hungs (D14,15 Grids 4 vertical	4	\$777.00	\$3,108.00
Back area 4 individuals Double hung (D 22,23,24,25) Grids 3 vertical	8	\$577.00	\$4,616.00
Stationary (D 26) Upper one grid 2 v	1	\$577.00	\$577.00
Individual 3 double hungs (D 27,28,29) Grid 3 vertical	6	\$777.00	\$4,662.00
3 Double hungs (16,17,18) Lower grids 3 vertical	6	\$777.00	\$4,662.00

Description	Quantity	Rate	Amount	
3 Double hungs (D 19,20,21) no brick moulding Lower grids 4 vertical	6	\$777.00	\$4,662.00	
Left side Two double hungs (D30 ,31) Grids 4 vertical	4	\$777.00	\$3,108.00	
Two double hungs (D32, 33) Grids 4 vertical	4	\$777.00	\$3,108.00	
1 double hung (D34) Grids 4 vertical	2	\$777.00	\$1,554.00	
1 double hung (D35) Grids 4 vertical	2	\$777.00	\$1,554.00	
Stationary unit (D35) yes there are too 35 s Grids 4 vertical	1	\$0.00	\$0.00	
4 Casement style (D36,37,38,39) brick moulding Two open two stationary	4	\$888.00	\$3,552.00	
1x 6 material box and trim Approx 800 ft	800	\$11.77	\$9,416.00	
Stop material inside. 7/16x 9/16 1,2000 ft	1,200	\$4.77	\$5,724.00	
Outside stop (1 1/4 x 1/2	1,200	\$2.77	\$3,324.00	
Brick moulding Approx 10 ft per window @ 40	400	\$3.88	\$1,552.00	
Solor seal (sealant) color sandstone	48	\$10.77	\$516.96	
6 basement 36 x 24 (new sashes) Grid grid 2 H	6	\$777.00	\$4,662.00	
	Culatotal		¢00 400 04	
Payment Details A 50% deposit of \$45,204.48 is required by 10/22/2024.	Subtotal Total		\$90,408.96 \$90,408.96	
	Total	\$90,408.96		
☐ Pay Now Invoice2go VISA COMPANY	posit due 10/22/2024		\$45,204.48	

Notes

Please Confirm You have Received Your Estimate















